1 2
f(x)=2x+5 Are these inverses?
Blue: f~1(x) =5x — 2 fx)=x*+4 i) = Vx—4
Purple: f~1(x) = xT_S
Pink:Y
Pink: f~1(x) = xTJrS e Tes
Yellow: No
3 4
(15, 10) f(x):§_7

Yellow: (-15, -10)
Green: (-10, -15)

Orange: (10, 15)

Light Blue: f1(x) = = +7
Yellow: f1(x) = 4(x + 7)

Green: f71(x) = 7(x — 4)

5 6
Are these inverses? 3x + 2
fx) = c
f(x)= x3-5 f(x) = vx =5 -
Green: f1(x) = =
Light Green: Yes Orange: f~1(x) = 15x + 10
Blue: No Purple: f~1(x) = 5(3x — 2)
7 8
3x (7.25, -9.5)
fx) = 7 1!
Pink: f~1(x) = 43—x +1
Purple: (9.5, -7.25)
. -1 _ 4(x+1)
Light Blue: f~ (x) 3 Blue: (-7.25, 9.5)
4(x-1)

Yellow: f~1(x) = -

Light Green: (-9.5, 7.25)







